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—RIFEFFMETFE (5

5%5) FAIEFR

M m A (HAZ T - %)
K FIERTOR | WAL fHIEZEE at HEREE
1 Fi 20, 772, 200 38.8 20, 772, 200 38.9
2 M 7 FE 5 Bl 174, 000 0.3 174, 000 0.3
3 H F F & AT & 24, 000 0.0 24, 000 0.0
4 BOY B & 133, 000 0.3 133, 000 0.3
5 fj’; A %f P s %jg 130, 000 0.2 130, 000 0.2
6 £ N F BT & 500, 000 0.9 500, 000 0.9
(O R - T 2, 800, 000 5.2 2, 800, 000 5.2
8 =TGR B AT 4 25, 000 0.1 25, 000 0.0
9 H B B ISR AS AT & 1 0.0 1 0.0
10 B8 BE M 5e 1 &2 A & 50, 000 0.1 50, 000 0.1
11 E*%T{E@E?%gg 15, 833 0.0 15, 833 0.0
12 H 07 KF B &2 A & 148, 214 0.3 148, 214 0.3
13 5 R A Bl 352, 388 0.7 352, 388 0.7
14 j‘; i % %f H %ZIEJ 16, 000 0.0 16, 000 0.0
15 H e kA HEE 222,779 0.4 222, 779 0.4
16 fi 1 B & O F %08k 899, 275 1.7 899, 275 1.7
17 E X o & 11, 631, 029 21.7 11, 631, 029 21.8
18 #P 53 i & 7,585,619 14. 2 A 1,570 7,584, 049 14. 2
M E I A 7,007 0.0 7,007 0.0
20 7 Bt & 33, 500 0.1 33, 500 0.1
21 i A & 2,872, 207 5.4 A 23,930 2, 848, 277 5.3
22 (21 4 2, 378, 040 4.5 2, 378, 040 4.5
23 I A 592, 008 1.1 592, 008 1.1
24 T & 2, 125, 800 4.0 2, 125, 800 4.0
7 N 53,487,900  100. 0 A 25,500 53,462, 400  100.0




(2) BRI

(BT - %)

K FERTORE | FERCHE fHIERE At AL
1 % = # 361, 094 0.7 361, 094 0.7
2 ¥ % % 7,311, 391 13.7 7,311, 391 13.7
3R 4 # 25, 386, 572 47.5 1,900 25, 388, 472 47.5
4 s # 5, 795, 668 10. 8 A 21,500 5,774, 168 10. 8
5 97 18 # 78, 996 0.1 78, 996 0.1
6 Hk # 62, 667 0.1 62, 667 0.1
7 P T % 210, 938 0.4 210, 938 0.4
8 + PN # 2,977, 562 5.6 A 15,300 2,962, 262 5.5
9 4 ] # 1, 388, 281 2.6 1, 388, 281 2.6
10 # A # 7,883,974 14. 7 9, 400 7,893, 374 14. 8
1K F #€ 1B # 1 0.0 1 0.0
12 & f& % 1, 830, 756 3.4 1, 830, 756 3.4
13 ¥ fii % 200, 000 0.4 200, 000 0.4
o A F 53,487,900 100.0 A 25,500 53, 462, 400  100.0

(3) ME IR (HA7: T - %)
X 4 MERTORE | AR fHIERE At MR
N # # 6, 114, 988 11.4 6, 114, 988 11.4
2% 7 % 9,851, 477 18. 4 9,851, 477 18. 4
SME B oM & B 302, 158 0.6 302, 158 0.6
4 Bl # 17,970, 116 33.6 17,970, 116 33.6
54 B # 4, 488, 258 8. 4 4, 488, 258 8. 4
6 W gt K H 5, 350, 352 10.0 A 25,500 5, 324, 852 10.0
TR EFEHEIBFE E R 1 0.0 1 0.0
IR/ f& % 1, 830, 756 3.4 1, 830, 756 3.4
9 ST & 2, 267, 794 4.2 2, 267, 794 4.2
11 & H 4 5, 112, 000 9.6 5,112, 000 9.6
12 7 i # 200, 000 0.4 200, 000 0.4
A F 53,487,900 100.0 A 25,500 53, 462, 400  100.0
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(1) BATEHE (BN TH)
74 FHIE4E mooOE N R B
1848 X H & A 1, 570 | Mt Ak HE i DX T BT AT ELRE A B 4R A 6, 270[x
AR—=VIERAN— g T v T4 4, T00[#fiBh=1/23%
214 A £ A 23, 930|/A I hi B i 2 1 AR N IS A A AT /A 23,930
BAAE A 25,500
ST H T 5 &)
(2 REFE(BMAIAR) (BEAZ: TH)
. fEIE%E ‘ e -
74 (55— EHE) WwoOFE N R A B
3R & B 1900} (k) 1 & bR & — el TR L 900
(0) BT ’
- A 21,5008 2 a=r—va by Z—U P A
i £ R (9 030) |7 L B R I T A 21,500
A 15,300
’ I—‘—'/P/ﬂ‘#/\ /'):;?: .-.
8+ K #& (A 9.030) H RTS8 S RT e g T390 A 9, 600[%
BT — T H V25 R T SR TS /A 5, 700[%
e 9, 400 s ‘ .
0% & & ) FE VAR B 2SI e e B L 9, 400 |#B i BH421/23%
) A 25,500
A ’
mHEE 0
I TR &)




Q) EHRIETSH

GBI (BN TFH)
LA H M R JEE %
(R #H) +E&ELHRE® VX — N o
¥ T W @ s % g PMEEERT 4 600
REEaIa2=4/b—T gk HF— A 2 N
Ut L b K R G | Tow|  PMEREET 21, 500
HEPHEEE —ARMBEIGE LF SRI6HEEET 9, 600
WHE — T B R & iF R #pr &£ T % SR6FELEET 12, 600
HAE D K EFRE 2T O MR E L E SFI6HEEE T 16, 000
(4) #2HBREE &
(BA7: TH)
= ¥ 4 4 M
il B G & 1E %, *+ ES 1, 200
3 EELHTEOKRR
(1) &£ (B 75 5 1)
x4 AR 4 R A5 AR A 5 AR
7 BOAE W | g aake | B SR | SRR LA
it B | % 3 & 7,855 352 1, 481 6, 726
9 R Ji - % o % %ﬁ i 7,412 1,581 855 8, 138
BEo=E M % W M i % 1, 431 601 267 1,765
= o N R/ N I 5,981 980 588 6, 373
ig 5 @ﬁ e F %%" # i 323 210 533
o 1t He it H & 211 27 184
# B = L & 1 1
%{ % [95& ﬁfﬁ 75"@%?& %% %ﬂ gfg {E 1,043 124 365 802
&3] H # 4 £ % 4 74 1 8 67
& F 16,919 2, 268 2,736 16, 451
(2) m&E (BLAT: 5 1)
X 4 AT AR NS AR AT 5 AR
7 BLOTE B[ A AR | W A% | BUIER LIAKE
=i 4 * ES & 6, 949 2,090 802 8, 237
% = (i) IH & 46 5 41
i il H )5 & 9,232 35 968 8, 299
Tk B 1 18 1% 99 45 54
moRF W B xR & 9, 026 35 923 8, 138
Tk 1% 1 18 18 107 107
& F 16, 227 2,125 1,775 16, 577




